a(0 @) (raqd)

SICEWATL

1072

o p/p.)

=
<

iy

W[TTTT T

-2

— | | __Global_m

—— DOM_V0001-R000000001Global_—_mkFi
—— DQM_V0001_R000000001Global _mkFit_hptt
—— DOM_V0001_R000000001 _Global _mkFit_new

-1 0

1

2 3

TP n (PCA to beamline)

a(d cot(d))

10

Ratl

,_.
S
L

1072

1073

! +¢+"‘§f¢ é’ﬁ #

105

ey

0.95!

W[TTTT T

0 1 2 3
TP n (PCA to beamline)

i_original
it_pless

[y

,_.
<
L

|
W[

-1 0

1

2 3

TP n (PCA to beamline)

| ‘
W

-1 0

1

2

3

TP n (PCA- to beamline)

oo a,) (cm)

z

107 s i

1072

iy

|
W[

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


